= A
A & O & A B Ml M
20169 = 20l& e &3
2A: 230
g3 HolS2el
el dEHIISX (&)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
3 13,138,678 13,876,813 AT38,135
= 1,192,900
N 700,000
Jl 63,622
< 554,800
Al 10,627,356
HIlI= 22| 4,674,674 4,773,308 98,634
= 430,900
S 27,709
Al 4,216,065
MEHIISH™e 3,968,260 3,730,796 237,464
= 94,900
S 27,709
Al 3,845,651
MegolsgN2g 238,574 272,000 N 33,426
101 1244l 16,409 14,135 2,274
04 D12 R22 T S2= 16,409 14,135 2,274
OXIISE B2 16,409
oJlzs 48,2403 x1H %247 11,916
oxg % 4UHEE=E S 4,492,712% 4,493
201 fet23E | 176,195 177,195 21,000
01 At 22l bl 25,791 26,791 1,000
Oge 2| 16,463
o HeAg MAJl 20101 25 F4
2,013,000& 2,013
o MEgE+H XUy S BMNsrE
35,0002 = 10CH »23] 700
o XY IISHEI AUHE MF
200,000& 204 4,000
o BFdEEES B X AUE MH
1,000, 000& 1,000
o MAJI=SEEI HYEE S+ A
60,000 *300H 1,800
o MAJI=-EI HE AEH MH
1,000& =1, 0000HK 1,000
o Jtdd, M D 2liE 2= M
2,050,000& 2,050
o MYIIRASE L SASRHIIES LB
S B0 EXE M 10,000 *507H 2= 500
o SAMERF HJI= 249N 82 3,400
-8y 60,000% *20 04 1,200
-t E 2003 x2E5%2,500& 1,000
-gHE 3,000& «15+200& 600
- AEIA 1002 352,000 600
O=&Hl 9,328




S 23HD
M. HOIS2el
el MEHIIZ 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o mEUFEZZ2S FX 100,000& =10& 1,000
o MIJIBEM HRF=X 200,000& *53| 1,000
o FHAXAE MYIIE0D 2 FA
20,0002 *10& 200
o HHAMAHZE HR2FA 100,000& =103 1,000
o SHADISHE ALY A(H, =4)
2,000,000& *x23] 4,000
0 SAMZ2E HIIE+H EFRFA
7,000 *8H *283] 1,568
0 SAMZ2E HIIZE o2t dF2FA
7,000& *4H 203 560
02 332494l 149,704 149,704 0
OZ222=2LHA 11,600,000& 11,600
OAl& & H KX Y| 2,160,000& 2,160
O &8hH| 135,944,000 135,944
03 At L 700 700 0
OSAEE HIOI2 LMAM AIHEHI
700,000& 700
202 O B 4,250 4,750 A 500
01 2LHA Y] 4,250 4,750 A 500
OMHINIBEM RN 4,250,000& 4,250
206 M= Hl 21,720 75,920 A54,200
01 &2 bl 21,720 75,920 A54,200
OSAEE HIIZ2 EJ)SEA 21,720
0 FHEE FU(DIHEZ, AX0O S)
2,000,000& 2,000
o HFRZSHX(THME) 6,500
- 52l 40& x50, 0004 2,000
- 202l & 40& *30, 0004 1,200
- 602l & 40& %20,0004 800
- 1202 Ef 50& x50, 0004 2,500
o SAZEMY I HESEME(HIHE) 4,820
- 202l & 633 *20,0000H 1,260
- 502l & 138& *20,0000H 2,760
- PXEX MAOlE HIE 8&%100,0000H 800
o dE+HEI ASsH F& 300,000&*12& 3,600
o ME2+HEJ €FHMH F+  400,000& 122 4,800
207 A T OH | 20,000 0 20,000
01 A2 E49Y| 20,000 0 20,000
SASE HOIS2M AH HEGBGIHE) =&
29 20,000, 000& =14 20,000
UEE ZH =T(EX) 22,000 10,000 12,000
& 8,000




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 14,000
201 L2l 22,000 10,000 12,000
< 8,000
Al 14,000
01 At 2t 2l 12,000 10,000 2,000
OBt =gl 12,000
o M JISEM MAXSH MeJl=H =2
10,000, 000& 10,000
= 2,000
Al 8,000
o B0/ WEAIEE StEXN 72
400% 5, 0004 2,000
= 1,000
Al 1,000
03 &AL S HI 10,000 0 10,000
OXNBH=SMEAHZ2Y 10,000, 000& 10,000
= 5,000
Al 5,000
MEBMY I =HHM ALY 757,137 586,083 171,054
101 @124 Hl 131,033 24,085 106,948
03 RIAHAZ 2T E =+ 89,676 0 89,676
O =l 64,560
0 SAER HII=ES +=HA =5 7Y
50,000& »10E »23] 1,000
o &Z0Istd HH= 150,000& *69H »23| 20,700
o A0IsA =3t 60,000& x69H 23| 8,280
o &Z0Ist& 0F2txD) 40,0003 x69H 23| 27,680
o &Z0Ist&d <9 50,000& *x69H 3,450
o &Z0Istd Es5x 50,000& *69H 3,450
O=&l 25,116
o &#Z0lst E2X =&l
7,000 «69H * 13| x62F 25,116
04 JI2ZtHZ2XREES 41,357 24,085 17,272
O3 ZIAMEE ZARE 21,357
oJlE=z 48,2403 x 1H 247 11,916
o=% % 4HEE= S 9,440,363 9,441
O=H & FEI|I2F HAR 20,000
o ESQI8 oA 80,0003 x25% x10 20,000
201 2yt 2 Y| 299,320 353,744 ~54,424
01 At 22l 11,340 65,764 AB4 424
O E=EH| 4,220
o BAWH JRFZ 2,000,000& 2,000
o BAXE FME X A2
35,000& »16CH »23 1,120




S 23HD
M. HOIS2el
el MEHIISHR (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
c=E(EZes S 84 52 @40
60,000& *2& *53] 600
o 22tE B dls MY Dl 2eltiE FLUEE
1,000& *5000H 500
O2 | 5,100
o dA PRFX 3,000,000 3,000
o AXHI=S £HHe gL2F=&X
7,000 *x20H 10 1,400
o MAJISYED| Of2tets g2=4A
7,000 109 10 700
OI 2| 1,120
o MYJ| EYED H4Ex=E 2Y
140,000& *4H x235] 1,120
[ DRNE= 900
o ¥XIHIIZ +=HEH X2
300,000& *1CH *33] 900
02 35244l 282,780 282,780 0
O3 22YL A 36,000,000& 36,000
OAE & H S XY 10,780,000& 10,780
O™ =l 6,000,000& 6,000
O Xt & Bk 230,000, 000& 230,000
03 & AtE G 5,200 5,200 0
OMNRE e =20sI] 8 400,000& *33] 1,200
OZ0I3A SLU 3 2,000,000& x13] 2,000
O=30I132 M=sUa 2,000,000& x13] 2,000
202 (4] 4,750 4,750 0
01 2L Y| 4,750 4,750 0
OMEMY DK HRFX 4,750,000 4,750
206 M 24 84,634 151,104 A 66,470
01 X2t 84,634 151,104 N66,470
OMYIIRZEESE HE(HS+2423) 49,100
o 52l H 262 x10,0000H 260
o 102I & 38& *30,0000H 1,140
o0 202 & 63& 200, 0000H 12,600
o0 20l (MHAtEEE) 70& x50, 0000H 3,500
o 502! & 138& *x200, 000 0H 27,600
o |IEZYX MAOI™ HME 8& x500,0000H 4,000
OHEMYDI0H ME(THIHZ) 8,100
o 202l & 3502 %10, 0000H 3,500
o 502! Ef 4603 %10, 0000H 4,600
oOMrYIIRFAEE HE(B22E) 14,650
o 202 & 633 *50,0000H 3,150
o 502| & 138& x50, 000 0H 6,900

_4_




fN: 23
M HOI=22e
Cel: MEHIsHel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o OH& &502IH 4602 +10,0000H 4,600
Od0lstd ¥ &2 FAXE 3 12,784
o EctAEY 6,000 x63F »2 4 756
o & 6003 63 +5& ¢l 123 2,268
o DAHELXNTS B (ES)
180,000& =122 2,160
o ZAHELXNTS B (ES)
250,000 1228 3,000
o H=2Y =10t M= 460& «10,0000H 4,600
301 LEtE A= 2,400 2,400 0
1MIIEBEAS 2,400 2,400 0
O2ES) 4O Zo43 10,000& 304 300
oM DIa2r MZas 30,000& 20 600
OXIIE0I 5 SSFH Za3
300,000 *5H 2 1,500
307 glz2tol & 40,000 20,000 20,000
05 RIZHRI & 3 40,000 20,000 20,000
OHEOINHE Z2I9MYDIHeld erd =D HDI
= ™ 100,000& »100& 10,000
OsHE, A28 gxIMegI] HMeal
100,000& 100 10,000
OM2SXA =AHAMHI ™el  100,000+x200E 20,000
405 TtHabF S| 195,000 30,000 165,000
01 AL EFFHEH 195,000 30,000 165,000
oMY Z2el=Hg 7Y 300,000& 504 15,000
O 2L 180,000
o ¥EHAXE 80,000,000 =2CH 160,000
o 1€ 2Xel EH 20,000,000 = 1CH 20,000
HEE ALY 69,280 320,751 A251,471
201 L2l 48,840 55,320 A6,480
01 At 22l 12,600 12,600 0
OBt~ 12,600
o WEBHEE FUBA 242
200,000& »12& 2,400
o WEBHEESY ASBABE 7Y
1,050, 000& 1,050
o MEEHEH M|t 2e|id =
200,000& »12& 2,400
o WEBHUE XY =F 248
400,000& »23] 800
O MBBHYUT +BAL FIIGHAAN 24
=3 1,000, 000& *23| 2,000
o SASFAHINES NskHEAF==Z
35,0002 = 10CH 350

_5_




2M: 83
M HOI=22e
Cel: MEHIsHel (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o SASMYJ HdESE E HEE M0t
AatE 28 200& *8,0000H 1,600
o 4TINS 21T HMZ 200,000 *10H 2,000
02 =224l 36,240 34,720 1,520
OZ=22=2 A A 1,300,000& =122 15,600
OAN&EHl S Xl 1,200,000& »12& 14,400
0ozl 1,300& *4002| & x12& 6,240
206 M= Hl 13,300 14,800 21,500
01 =8l 13,300 14,800 21,500
OMEELEE 29 Wz ¢ 9,400
OMEBEHEY FHHZ ASUE 7Y
4,700,000& 4,700
o FCEE EH 1,100,000 1,100
o HEYE EWN 1,100,000& 1,100
IEFY 500,000& 500
o MEEMYEY P28 HEE 7Y
2,000,000& 2,000
OH8E Ast)l 2 (2E3.32/H)
50,000 *30CH 1,500
ONMEsEEE AJIZ2H EBHOH 2
300,000 *4JH »23] 2,400
301 L2 AF 500 500 0
11IIEIEA S 500 500 0
O3l 23 M8 AH&DD Z&4Z 25000320 500
405 XHoHF S HI 6,640 169,370 A 162,730
01 XL 2 ZFH S| 6,640 169,370 A 162,730
OAJI220 HAY 270,000 »2H 540
OXIAX B3 2 2,000, 000& =14 2,000
OLJI22H & 200,000 *47| 800
ONESHEE 0|SA 228
1,650, 0002 »2CH 3,300
sZE HHlY =) HHA2(EX) 104,300 91,800 12,500
= 14,900
< 8,280
Al 81,120
301 LEtE A= 104,300 91,800 12,500
= 14,900
< 8,280
Al 81,120
11IIEBEAS 104,300 91,800 12,500
O=ZHHE =1 23 104,300, 000& 104,300
= 14,900
< 8,280
Al 81,120




A
© H

el

X ZH
S =

=
=

AH
(=

mwg o

ot
szel

HII=Xel

SA -

H - (3 H) - MR ALY

01
o

Off &t 24

=

i
2m

ot

XY MelAlE AL (B X)

= N H

114,287
80,000
11,429
22,858

114,266

21

= N H

84,000
58,800

8,400
16,800

89,658

Ab,658

04 JIZtNZ22 XS+
Oot24g I+ XMelA

1,200,0002 <10 +7&

= W

84,000

84,000
58,800

8,400
16,800

89,658

A5, 658

= W

25,000
17,500
2,500
5,000

18,600

6,400

!
didl=H MelAtd

100, 000& »250&

= N H

25,000
25,000
25,000

17,500
2,500
5,000

18,600

6,400

206 M= Hl

= N H

5,287
3,700

529
1,058

6,008

AT21

01 el
OHAEE 7Y

5,287,000&

Z N W

5,287
5,287

3,700
529
1,058

6,008

AT21

0lo

Jz
Ho
E(_I
o
0z
M0
02

1,203,947

1,137,269

66,678

N
2
e
L
Mo
02
=

284,525

283,815

710

(e)
>
10
e
o]
[=s

()
© 9 e
n © e
> 4
W 4% o
oo
=
=~ 40
L™
40 O

o
0o
1z
o

HMelAld dI|erA 2

685,000&

,800,000&

,100,000&
500,000&
asE

900,000&

14,525
10,525
685

1,800

4,100
500

900

13,815

710




SH 230
M HOI2He
Cel: MEHIsHel (9 ® =)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CSNEMANE BB +x=
1,600, 000& 1,600
0 SAZS HHILE L HES 2TAN 4
2 7,00021 %108 2 #73] 490
0 BASHEAE NYBASH £42
450,000& 450
O= &l 1,000
o SA=E MEEYR & 1,000, 0002 1,000
[ DN a= 1,200
o SASHEIAIE E=I| &l 1,200
o1 =l 1,800
o SASHCAE 22X HYg=s € oMt
100, 000& »9H 23| 1,800
02 2324l 270,000 270,000 0
OZZ23LHA 227,400
oax+ERS 1,500& *1,000E *63| 9,000
o MIIe=a 140& %130, 000Kwh* 128 218,400
OA & ZEHl s Xl 37,600,000 37,600
[ DRSaR=aa] 5,000,000& 5,000
206 = Hl 87,016 72,016 15,000
01 24l 87,016 72,016 15,000
OSAEXMeANE &Y, 2A=54F 72
10,000& *202| &1 *30S 6,000
OSAENASANE 22235 ¢ 15,000
o MIIXI 2L 100,000& »10& *33l 3,000
o & 239 #¢Y
1,000 =102 &l «20 * 103l 2,000
0 EZAYLE 2¢ 10,0002 2004 =102 2,000
022N BESEE P (L2, 48=,0tA3)
10,0003 x5 10«10 5,000
o JIAESE 2 ¥ FelA FY
150,000& 10 *23l 3,000
OSAEMHANE RNAS =2X22E s 7 66,016
o x=IlsSE 60,0003 *0.2& «BAl 2t %244 A| 2+ 23,424
o €5 220,000 0. 2E *8BAl 2t* 121 Al 2¢ 42,592
207 1R 2yl 137,206 137,206 0
03 Al & 12 HI 137,206 137,206 0
OSASHelAE 5N 2
50,0003 *50kg*6 & 15,000
OSAEMeANE EFHEH 457
3,000,000& 3,000
OSAEMEANE BE+HeE A5 119,206
o=cli 39,348,000 39,348
o AZH(LSAH) 29,858,000& 29,858




2M: 83
M HOI=22e
Cel: MEHIsHel (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o It ACh 50,000,000& 50,000
401 Al B2 28I 389,000 465,000 AT76,000
01 A& HI 386,120 462,444 AT6,324
OSASH2UANE = EE WM S A
50,000,000 *3%H x99.28% 148,920
O2L2) 3HdE Ex=ZA
100,000, 0003 *2JH 2~ *99. 1% 198,200
€ E OO0IAE DHBA(LFHEXE)
6,000,000 23| x2J4 2 24,000
ElHIStAlE E=Dl Ex3A 15,000, 000& 15,000
03 Al 2 0HHI 2,880 2,556 324
OSASHeANE A DS A
50,000,000& *3H x0.72% 1,080
OZ3S)| 3&8F5 E3 A 200,000,000& x0.9% 1,800
402 2I2H X201 M 196,200 65,200 131,000
02 BI2HCH & AF S HI 196,200 65,200 131,000
OSAER HIIE /A (2U2)
120,000& *30&E » 15 54,000
OsA2R Hol2 AL (FL . EH)
120,000& *30&E 17 61,200
OSAER HII2 =X H™eltl
110,000& »3&E *2003! 66,000
OSAE &=+ 018 10,000& x50& 30 15,000
405 TtobH S| 110,000 66,000 44,000
01 AL EFH S 110,000 66,000 44,000
OSAEXCE HEEZ2 2L (1500t)
33,000,000 *2CH 66,000
O Ed & &2 0/ &HA 2
7,000,000& 2% 14,000
OsaSHaE e 2,000,000& 108 20,000
OSAEMelE 2HI12H P2
1,000,000& 108 10,000
HE&E(ALE) 2Z 1,458,735 1,188,735 270,000
201 £B-2%H| 13,735 13,735 0
01 At 22/l 8,900 8,900 0
O2E==EH| 2,400
o Z2MEE =UXNAEAM €23 M
200,000 *43| 800
oMEZZ MHEAME BAx=x2
100, 000& *2JH 2= *83l 1,600
[ DR N = 6,500
oANEBEZ MMEANE =Xl X
6,500,000 6,500
02 8323l 4,835 4,835 0




SN B
M HOI=22e
Cel: MEHIsHel (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OCZ2Z23SLAA 1,835,000& 1,835
OA & EH R X 3,000,000& 3,000
308 XXX SO0 A 900,000 850,000 50,000
07 RtX AN 2L 900,000 850,000 50,000
OZAMADI WY 2 22T 2923
900,000, 000& 900,000
401 AIEHIZ 201 8I 15,000 5,000 10,000
INE=1:1] 15,000 5,000 10,000
OMEZZWHEE &+ MEX Z B2 H&
A 5,000,000& 5,000
OSUMNESTZ2UEE =2l (UAAH)
10,000, 000& 14 10,000
402 RI2EXt20| ™ 530,000 320,000 210,000
01 B2t t= AP E XL 530,000 320,000 210,000
OZAUMEH FH0IS XNA('16E FES) 530,000
o CHOLOt= 330,000, 000& 330,000
o Q4t0t2 200,000, 000& 200,000
AMSEEH OIS 2 706,414 1,042,512 A 336,098
= 336,000
Al 370,414
HIISAS & 22l 25,028 24,945 83
201 L2l 11,725 12,042 A317
01 At 22l 8l 10,325 10,642 A317
OB ==EH| 5,525
o ANZEHIIES RFX 282,000& 282
o AN&E(HAH)UXHIIS A 443,000& 443
o ANE(HAH)UXHIIS ER 100,000& 100
o HIOISHES & LFZA(F - 0F2H)
40,000& »203] 800
o REEEE EE A 20,000& *203| 400
o AV E HIIE2 HEESY 2,000,000 2,000
o Al ZEHIIZ2 S YUY ¥ EXHIIS Xl
1,500, 000& 1,500
O= &l 1,000
o HJI=Z &= HRFA 1,000,000 1,000
O1l =l 800
o HIISMEEIM H=E (& - 5t2)
50,0003 x4H %23 400
o HIISMESAM H=E(H=3H
100,000 »4H x 13| 400
ogxzs 3,000




SN B
M Hols2el
Selr ASEHOI=S 22 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oHIIS=H0HE = FH Xt
3,000,000& 3,000
03 A2 Z Hl 1,400 1,400 0
OHJISxel g9X Us(HAH &)
7,000& *x200H 1,400
202 Odl 1,303 903 400
01 = LH 4 1l 1,303 903 400
OMSZHIIS2E HRFA 1,303,000 1,303
206 M= Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OANSEEHIIZ =23 M M8 7Y
5,000& 2004 1,000
O2LFIZIHE ¢ 50,000& 204 1,000
307 21201 A 10,000 10,000 0
05 BIZIRI & 3 10,000 10,000 0
OMEE 2 X (HAH S)UXHIISHe
10,000, 000& 10,000
A4 HIIS2el 9,386 9,567 A 181
201 LEt2E | 7,689 8,189 A 500
01 AP 2teltl 5,675 6,175 A 500
O E==EH| 675
o d&HIIEXNeY dIt ¥ NEEZ 2=
& 675,000& 675
O=Egt| 1,500
o AHHIIS 2@ Q50 Y HEYP =X
1,500, 000& 1,500
[ DR = 3,500
o HAHII2 SYME &olFHY Yt
,500,000& 3,500
02 =224l 2,014 2,014 0
O33R LAA 2,014,000& 2,014
202 044l 1,697 1,378 319
01 = LH o4 1l 1,697 1,378 319
COAd&HIIS2e HFFA 1,697,000 1,697
CESHOEMXNAAS (BEX) 672,000 1,008,000 A 336,000
= 336,000
Al 336,000
403 A X EHHS =0l A 672,000 1,008,000 A 336,000
= 336,000
Al 336,000
02 S| 2SO0l CHSt At 2 X CH & AF & I 672,000 1,008,000 336,000
O-FZY0EXHel XA 672,000,000 672,000
= 336,000




C HII22e
=R BIEEE] (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| | Al 336,000
Astdeg 209,400 547,647 A\ 338,247
= 47,000
Dl 13,622
T 18,257
Al 130,521
A2 MALY 209,400 547,647 A 338,247
=2 47,000
Dl 13,622
T 18,257
Al 130,521
ANASHSHALS 58,360 46,647 11,713
101 2124 1| 14,863 34,650 N 19,787
04 JIZtHI2E2XNEE 14,863 34,650 N19,787
OEMEHRIZ A& 2124H|
(48,240 x5 60 )+(48,240 R x5H *60L ) +2. 14,863
201 et A | 15,497 3,997 11,500
01 AFR22t2l Yl 15,047 2,547 12,500
Oet+gH| 12,547
o JIEHS S 222 M&E 547
-EEE 547& x1&*1,0000H 547
o SMAHE HRFA 2,000
- =M O H4F HE O 500,000& *43| 2,000
0LIEY A =2 10,000,000& 10,000
O=2 Y| 2,500
o NHESHABHAY F& 1,000,000& 1,000
o BHEIMNEREEZ XA 500,000& 500
0 FALIOE SHE XA 500, 000& 500
o OFMESZ Tl ZAF 500,000& 500
03 SHALS H I 450 1,450 A 1,000
O&Fo < A 450,000& 450
202 04| 1,000 1,000 0
01 2LHOHI 1,000 1,000 0
OXNHEEEN HRFX 500,000& 500
OINEREZ =X A 300,000 300
OEAIQE SHS XAt 200,000& 200
206 T2 HI 2,000 2,000 0
01 24l 2,000 2,000 0
O/t ESES L& d SFRY
2,000& +1,0002] £ 2,000
301 dBEtE A= 25,000 5,000 20,000
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20,000
904
404
404

500
500

H3r
Wikd
RIS

5,000

35,000
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Off &t 24
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20,000
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500
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20,000
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2,000
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Sl BASHAY CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o &0 Tdoi FHMA A 500,000& 500
202 oddl 500 0 500
01 = LH 4 1l 500 0 500
O4&H To 2HMX A 500,000& 500
301 gt 4= 15,136 30,000 A 14,864
J| 13,622
< 757
Al 757
1MIIEELSS 15,136 30,000 A 14,864
O&%Ilo M4 15,136,000& 15,136
J| 13,622
= 757
Al 757
orsgzg2d 129,620 129,356 264
< 7,500
Al 122,120
g3 2gazel 129,620 129,356 264
< 7,500
Al 122,120
HolstZ2Ed 96,196 83,592 12,604
101 @144 dl 32,818 35,000 A2,182
04 DIt Z2XREES 32,818 35,000 N2,182
OUDIHH=d 22 2ex¥ 16,409
oJdlE=a 48,2403 x1H 247 11,916
o =% 2 4HEBEZ S 4,492, 712& 4,493
OEAZN 29 22 16,409
oJlEe=a 48,2403 x1H »247L 11,916
o4 ¥ AHEBE= S 4,492, 712& 4,493
201 Let24d] 58,878 44,092 14,786
01 At 22/l 29,173 14,387 14,786
O Et==EH| 27,173
o B#FNEREYEZ HIIEg IXNA F
693 20,0001 x23] 2,760
o #IFNEREYES S5 LA R
69& 36,0001 x4 3] 9,936
o O & HIEOtA A2F F2 333,000& 333
o MHtESx S2d MetXd g2te &X
10,544,000& 10,544
o A 238 &L AEH RO
120,000 =108 A 1,200
o A= 23d 21E 7o
120,000 =108t A 1,200
o ASX =3 d BEtzE 7o
120,000 =108 A 1,200
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02 33249l 29,705 29,705 0
OZ222=22L A 25,000,000& 25,000
[ D= Fal=lasll 4,705,000& 4,705
207 A T OH ] 4,500 4,500 0
03 AlE & 2| 4,500 4,500 0
O3saisdE Al 2 1,000,000& x15 1,000
OZ2HX AIS2FI X 2L
1,000,000& x15 1,000
OLFHNEH) ZZHY 2¢ 2,500,000& x1& 2,500
SHEAUES ALY E 22| 8,424 8,924 A 500
201 Bt A | 3,924 2,924 1,000
01 AFR2 22l Yl 3,924 2,924 1,000
Ot +=2H| 1,924
0O SHZIEHESMEE FRFX 724,000& 724
o BHEAMEE 2A2IJtE K2l 300,000& 300
o HiEAMgEE22 MAES 2 300,000 300
oHiZga B3HE S |92 300,000& 300
o LHEAMNgEE HEHE8E 22 300,000& 300
O=2 | 2,000
o I EMYE &2 1,000,000& 1,000
o AILUZIIEHE =X (XA 500,000& 500
02Y% EXAHPR =X 500,000& 500
202 04| 500 1,000 A 500
01 2LHOHI 500 1,000 A 500
OF2d 22 RF& 500,000& 500
206 M = Hl 4,000 5,000 A 1,000
01 & bl 4,000 5,000 A 1,000
OHIEMEE SHHES 4,000
o MEMMF ME=2I 2L 1,000,000& 1,000
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1,000,000& 1,000
0o EXANE MFASI ¢ 1,000,000& 1,000
oHiEga HAEE 2 1,000,000& 1,000
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OO SAE Tol 24 45,000,000& 45,000
< 4,500
Al 40,500
402 RIZERt20l ™ 30,000 10,080 19,920
= 15,000
< 4,500
Al 10,500
01 A=A EX 30,000 10,080 19,920
OOt s=IIol KA 30,000,000& 30,000
= 15,000
< 4,500
Al 10,500
MERH wetdM=E EX(EX) 20,000 0 20,000
= 6,000
Al 14,000
101 @124l 20,000 0 20,000
< 6,000
Al 14,000
04 JIZHHNZ2Z2XNSE+ 20,000 0 20,000
OMEHH netd=E HA 2 20,000,000& 20,000
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Al 14,000
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 ogsmae
Hezoy el

SN HH-S(BN) - MBAY - B il HlnE2
CINEELHEAL TH2g 292 (52, &
o1 5}) 500,000 500
0 NESLHSALE B2 222 (525
5t=) 500,000 500
oLxz 77.608
0 ROtA HBRAR OSEHEA AR
12,000,000 12,000
o NEMER OIS &A X 63,600,000 63,600
0JE2L Y MaIFE LX 2,008,000 2,008
02 2z 29| 14,230 14,230 0
OZZQ2 LA 7,090,000 7,090
OA & RH S X b 2,640,000 2,640
Ozt Mty 4,500,000 4,500
03 8 AF2 & H| 1,000 1,000 0
OHIH 22 2 sA 1,000,000 1,000
202 O1H] 4,000 3,506 494
01 20 b 4,000 3,506 494
OSlE+RAD PR=X 4,000,000 4,000
206 T 2l 15,750 15,750 0
REE] 15,750 15,750 0
OZESHTA ASUHE 1,000,000 1,000
ONQBIHHEIAL L 51F 2EAANE Hody
79 2.,5002 x2007H 500
OSHAAD YA 7 9,500
0 SEEM OHE(1000H/8:A)
100, 0002 %108t A 1,000
0 SEEM O§E (2000 /8t A)
185,0002 * 108t A 1,850
0 REEM =(50M/2A) 80,0002 58 A 400
0 SEEM = (30M20H/8A) 90,0002 *54 450
0 @YUEA(XZ50cm 2 0120m)
550,000 %27} 1,100
0 OPT 200(Z Z2120cm 20l 3m 42 /2tA)
150, 000! %27} 300
0 OPT 200-42 (X Z20cm 20| 3m 474 /etA)
275,000 %28t A 550
o fMelM (182l ) 50,0002 *10S 500
o 22X 2l H (10kg) 130,0008! * 10X 1,300
o MHIZ (Y, HRE, U 248/9A)
350,000 *28¢ A 700
o ZHIEZ (A, WRE) 3,0008 *200Z & 600
0 BHIES(IHSHS) 25,0002 %3024 2 750
OANE 3 27 4,750
o o3 TXT 50,0002 *807H 4,000
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L= B

el

#20
43 QysIAe
stEszoy 2el

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
02 M=+4 2,500 *300 4 750
SHLASHM 2S(EX) 70,000 170,000 100,000
Jl 50,000
Al 20,000
207 Aol 70,000 170,000 100,000
Jl 50,000
Al 20,000
01 22 E A 70,000 170,000 100,000
159 +FeEsSB2| AN OlHE I}
g9 70,000,000& » 14! 70,000
Jl 50,000
Al 20,000
Y ded 2s(Bx) 100,000 100,000 0
2 50,000
Al 50,000
201 2er2 4l 15,000 0 15,000
= 7,500
Al 7,500
01 AtR 2t 2l Hl 15,000 0 15,000
o2t =8H| 15,000
o FUEIWE A = 15,000, 000& 15,000
= 7,500
Al 7,500
206 M =8l 35,000 0 35,000
= 17,500
Al 17,500
01 M=z Hl 35,000 0 35,000
OHIEMZE I8 MLyll2el=HE &X
35,000,000 35,000
2 17,500
Al 17,500
307 glztol & 20,000 20,000 0
= 10,000
Al 10,000
02 I HAAMAEE 20,000 20,000 0
OATY SAAMY 20,000,000 20,000
= 10,000
Al 10,000
401 AlEHI R 2 0hYI 30,000 80,000 A 50,000
= 15,000
Al 15,000
01 A€ dl 29,676 79,280 249,604
OATE SN 30,000, 000& *98.92% 29,676
= 14,838
Al 14,838
03 AlE 2 THHI 324 720 A 396




2M: 33
M 2X QASIBR
ool GtEAEY B2 (B9 ®R)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
092 SJAAY 30,000,000 x1.08% 324
= 162
Al 162
MCt2HI0|@=8t2 A& (XIE) 2,811,102 2,900,000 A\ 88,898
N 700,000
= 420,000
Al 1,691,102
401 Al HI L £ 0HHI 2,811,102 2,900,000 A\ 88,898
N 700,000
= 420,000
Al 1,691,102
01 Al& B 2,801,022 2,900,000 N 98,978
OEX HOI=&E =4 2,789,920,000& 2,789,920
Xl 697,480
& 418,488
Al 1,673,952
O2X Ho|2=&g & (148 ZE 222)
11,102,000& 11,102
03 Al&E 201 Y| 10,080 0 10,080
O2X HOoI=82 X4 10,080,000& 10,080
N 2,520
= 1,512
Al 6,048
SAHAZA =& 47,595 48,027 N432
101 @121 | 27,485 27,414 71
04 JI2H2RNES S 27,485 27,414 71
OBZ2AA 225 14,135
oJlea 48,2403 1 x220 10,613
oY ¥ 4EEE S 3,521,806& 3,522
O3 4+g THXY A2
89,000& »3H x50 13,350
201 LEr2 Y| 12,060 12,763 AT03
01 AP 2t 2] H| 10,000 10,703 AT703
Ot 2Y| 6,900
o0 Bt KA =X
4,297,000 4,297
0 JIEEL YR S SHH NE=EH 22
JIE HI& 400& x2, 16504 866
0 JIEELZZA SHE=EE2E 22 1,737,000 1,737
[ PE=2=d] 1,900
0 EtHZUAN EL2FX 900,000& 900
0 JIEEL 2ZAl, SEFX(0F2H, 5Y)
1,000,000 1,000
OI£H| 1,200
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2AM: 283
PN

HzM: KA QAHASA UL
ol SHELAEQY B CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CIIEELMENE 028 29, N9,
g2 5 2 240,000 x5 1,200
02 2224 4| 2,060 2,060 0
OZ2Z222Y A 2,060,000 2,060
202 044l 4,000 3,800 200
01 2L Y| 4,000 3,800 200
QEEZA ER2FX 4,000,000& 4,000
206 M EHl 4,050 4,050 0
01 XHZ Hl 4,050 4,050 0
OIIEER Hs5llg 7Y 2,500,000& 2,500
OIEEL 23 AM MY € MASI 7
2,500& *2= « 100K 500
OsE LI = 2L 350, 000& 33| 1,050
HEQLAMUAILE 22 (EX) 785,700 734,286 51,414
= 550,000
Al 235,700
401 AlEHIZL 2 THHI 785,700 734,286 51,414
= 550,000
Al 235,700
01 Al& H| 780,750 733,620 47,130
OFA DldlsolZet Z4AMH
780,750,000& 780,750
= 546,535
Al 234,215
03 Al 201 Y| 4,950 666 4,284
OEA Dol Ze ALY 4,950,000& 4,950
= 3,465
Al 1,485
SAHQABIT AIS 3,707,164 3,707,180 A 16
HHIZAE BN 2 3,707,164 3,207, 180 499,984
201 gEt24dd| 2,240 2,240 0
01 AP 2t 2| H| 2,240 2,240 0
OB =2H| 1,240
o MEEEHXHEAE M2 DA HZE
1002 =10, 0000H 1,000
0 MIEELXNEALE S B =& 2=H|
240,000 240
[ PE=2=d] 1,000
0 BHAHJIZANE HRF& 1,000, 000& 1,000
202 044l 2,000 1,500 500
01 2L HI 2,000 1,500 500
OEIIZANE 2 2,000,000& 2,000
307 QI2t0| ™ 3,200,000 3,200,000 0
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M 43 Qs
el ATQ YT Al CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 3,200,000 3,200,000 0
O=2=XelAMd Az 700,000,000& 700,000
OJI=2=XHeAE A2 2,500,000, 000& 2,500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& HI 496,400 0 496,400
O II=2aS3HelAE EFHAE EZSA
500,000,000& *99.28% 496,400
03 Al 2 THHI 3,600 0 3,600
O IERI33HeANE EFHAE B2 3A
500,000,000& *0.72% 3,600
402 2I2H X201 M 2,924 3,440 A516
02 BI2HCH & A& HI 2,924 3,440 A516
OFZoXeltid wea 1,720 17,000 «10% 2,924
HY2FZ Y (HF ) 37,920 44,784 N6,864
Jl2dd(e&Z ) 37,920 44,784 N6,864
Jl2dyl (&) 37,920 44,784 A6,864
202 O4dl 33,600 39,600 A 6,000
01 = LH 4 Hi 33,600 39,600 A 6,000
OZEEZ 0 100,000& »28H » 12& 33,600
203 YR =&l 4,320 5,184 A 864
04 FN2EHSZ=TH| 4,320 5,184 A 864
oO=ad 360,000& 128 4,320
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